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Earth & Its Cycles:

How many hemispheres is
Barth divided into at any one

given time?

One complete rotation ﬁ Earth
on its axis is equal to

L day = 24 brs.

g T

\ et

“Are all &&a the same length
of time? Support your answer.

Jes , L hrs

Me

The amr.

L.S(;?.D\:. caa Voo

The rotation and revolution of the
Earth are _.n%osm?_n for
and and

seasons (o \jear )

Why do some planets not experience

9 -
Seasons ! I@X\-

One complete revolution of Earth around
the sun is equal to

yven thu\}g.@\

, [+ on
are ﬂt,m |

365 S days

:.w..ﬁm the # of hoursof
sunlight and darkness in the
No. and So. Hemispheres not

constant?

E E\imw IS .M_q; ed \ sir _mTP_,M}*: Wy do'eap years ocour every 4 years? | _ : \ & e « .
t+ down / hemgphere lean Lol gl % =365 MY days = |
- qﬂ% 1 mF«s\u ?E\RP«GI%IM&; gt gty | S R&..A\\QB:S,O\J

3&\4% _

v o O counterchl wisk

The Earth rotates in a @
direction---that is from

@ o @

@ Wwest
® east” |

The Earth rotates on its axis at

a_z¢ °slant (til).

,NW\\‘U\G Or wwr Ww..o

If the Earth’s axis were straight
up and down (not titled), what
would happen to the amount of
sunlight at each pole all year
long?

A pocts o Earth would

hdwe. bout I hrs.
sunl ond | hes. dprknes

¢ N0__Seasons

What would Earth be like if
the Earth did not rotate on its axis?

Some. Ee&nh Wouldd howe
al L &j\.&z\ ve. stme

@Wﬂomw mmM?:&x all

- \

What do the words solstice and equinox

ol 183 __lleffover &fm

' ( DSL\_,;V

mean? How are they related to the positio

of the Earth’s axis? E\ .

| gear

KiE ot 23R°

©

, : %oﬁv,g .
sdlstie = sun Sfop T s . direct ray/s

@@F,.JSA = Q@E 5,/%,&

How does the tilt of the Earth’s axis,
combined with the earth’s revolution,
cause the occurrence of the seasons?

Vs, npF +ilted

+oU€P*v% M.:wj s
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A S equikr  Approx 12 hrs - s B -

this day in terms of daylight and dark- R . 3

iy y ylight and dark mc,\j /> Matching: On the line provided, write the letter of the term at the bottom that is most
closely related to the phrase.

A\Tn\.&‘am, D@ m@% ~$\~%t( | 2/% ! 7*'M. %Fﬁ% lm 1. the imaginary line with 0 latitude

i 2. the imaginary line with 0 longitude

The verpal,equinox is the first ] } b 3. the surrounding air layer of Earth
amv\om krr ‘ . ,1,,
, ” , U Aosonoau_oﬂongo_:co:% mwn:&os:&:om:n

The day when the North Pole is tilted w 5. one complete rotation of Earth on its axis

full 23.5 degrees toward the sun is the . “ “ " .
f,:Mm\P scribe this day in , i “iﬁ\\m FI 6. result of radiation colliding with particles in Earth’s atmosphere
terms of &Q:mE and darkness. a M & [ * ‘
F: M O .Qq Q AA € {g W 7. imaginary lines running north and south
i Southern @ ,_ormw\m‘ :
_sz \f\ 8. imaginary lines running east and west

_ ‘ , ra ” w 9. a north-south section of Earth in which all clocks show the same time
A M_jWéw False? Summer and winter are not = a\.t) ik E .’.w 10. Earth has 4 seasons due to its ..
affécted by the Earth’s distance from the sun. : WU. £S5 p"\ \

n%e:/mwo: «mn answer. < u _ » _ ‘ _ °5 ._l Q\ e/w _ e_ ?7045 rﬁ 11. Earth is divided into .
_, ‘ .7 d\*l 5\0*! /T\em , m.C\—\/ — n i ..~r.m £ ~ — eﬂ*\ﬁ ﬁ 12. Twice a year, the poles are tilted directly toward the sun
%Mgo\m\ ﬁs ._, << 3@\3 << @\ S ; m\ w @% 13. Twice a year, the poles are not tilted directly toward the sun

Today, is the No. :Qﬁmgﬂo _om_.:mm , a. mnao%rﬂo, h. Prime Meridian
toward or away from the sun? How do : mwh n‘ | m (CN. % b. auidra i. parallels
you know? c. tilted axis and revolution j. year
_,mF i Y MOove. *.c w adi Q d. meridians k. day and night (24 hours)
9 ‘ *‘._ e. hemispheres (2) 1. solstices
s et c m 5 /T,m\ ¢ E&m E,m\ f. BEEW. m. time zone
Math Connection-use. a calculator. g equinokes

If Earth moves at a speed of umwnox_ampwq 30km/sec

e Y0
as it orbits the sun.. £ § Pw\w

What is the &mS:nn. in km, does Earth travel {ul ;\SQ\
° ws one minute? .(Uvo X O T ’m. O K m
i mbol w%%%,. e
gorwr:u 2y mﬁyo% Kin—
2,592,000 35 = Gyl 050,000 K

teap \err .w 945,72, (00K M.

o 53 et

olshice

e in one year?




